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2 + a3Z
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|Z| < 1

1916 |a2| ≤ 2[26]

|an| ≤ n

K(Z) = Z + 2eiϕZ2 + · · ·+ nei(n−1)ϕZn + · · ·
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1957

1964

1965

1979



1958

[1] 1981

[2] 1930

[3] 1954

[4]



1957

[5] 1958

[6] 1964

[7] 1979

[8]
20 1921 44 47

[9]
4 1928 517 520

[10]
4 1928 36 37

[11]
30 1929 1 9

[12]
9 1933 465 467

[13] 1
1950 1 7 26

[14] 1 1955
748 774

[15]

2 1956 89 124

[16] ρ ρ
1 1957 1 15 20

[17]
2 1958 73 77

[18] Q
3 1959 318 322

[19]
4 1965 337 351

[20] 3
1959 44 48

[21]
1 1964 4 1 28



[22]
28 1928 612 634

[23]
156 1913 1655 1658

[24]
116 1966 135 157

[25]

3 1927 295 308

[26]

1916 940 955

[27]
154 1985 1 2 137 152


